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Ritp://farbe i tu-berlin.de/ CENBICEHBLONA TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuS triangle lightnesst*

t* Yoc=Yw - nc=100,
L AgaNDus =IN(A1n+A2Y)(A2rAon) - (Yad/100<Y<=Y,o)

L ABaNDUB=IN(A 1+ A2X)/(AgAon)  (X=YTYy)
t(3,6)=146 *,(18)=332,t* (90)=517

log[t*/t* ]=0, m,=0,33

1
1
1
1 . -
0 application
. range

=1
SXw=5

LABJINDu8

tristimulus value difference

Yoc=Yw nc=100,
L AgINDUs=IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDu=IN(A 10 A2 (A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aon065=1,5, Aona=1,0, see CIE 230:2019

“‘
#7382 dY,=0,17, dY, /1, =0, 2096 &

application
range
i, _
=l
xN=0,2 Xw=5

log AY/Y) LABJNDuS
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100

L AgINDUs=IN(A 17 A2 Y (A2rAon) - (Yad/100<Y<=Yoo)
L AgaNDu=IN(A 10t A2X)(A2iAon) - (X=YTYy)
AY/Y=Aon(A 1t AIY=Agn(A1ntAX) Y

~
log@¥/Yy2.01 M= u 4 o copiication
17, dY,/Y,,=0,0096 1 nge
1
1
Ix=1
xN=0,2 Xw=5

LABJINDu8

tristimulus value contrast
Yoc=Yw nc=100

L AgaNDus=IN(A 17 A2 Y (A2rAon)  (Yad/100<Y<=Y,o)
tLaBINDUs =IN(A 10t A2 )/(AoAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

application
range

=1
Xw=5

e LABJNDuS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t*LaABINDUB=IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
1 ABINDUs=IN(A 10+ A2 X)/(A2yA0n)  (X=Y/YY)
t(3,6)=146 *(18)=332,*(90)=517

log[t*/t* ]=0, m,=0,33

1 application
f range
%=1

log(AY/AY,) LABJNDuS relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

t*LagaNDus=IN(A1ntA2Y)(A2rAcn)  (Yad100<Y<=Yyo)
t*LaganDus=IN(A1ntA2X)(A2iAon) - (X=Y1Yy)
dY/dY =(A1+A X (A1 +AY)

CEHBO-4A
log [(AY/Y) | (AYIY),] LABJNDuUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
tLagaNDus =IN(A1ntA2Y)(A2rAcn)  (Ya/100<Y<=Yyo)

tLaganDus=IN(A1ntA2X)/(A2iAon) - (X=Y1Yy)
AYYYAYIV),=[(A 1+ A2X)/Xull (A 10+ ALy)

10g[(dY/YY(dY/Y),]=0, m=-0,09 1 .
t,=332 dY,=0,17, dY,/Y,=00096]  ABLcaton
Ix,=1
Xn=0,2 Xw=5

CEHBO-6A
log [(Y/AY) I (YIAY),] LABJINDuS relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
t*LaABINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,()
tLaganDus=IN(A1ntA2X) (A2iAon) - (X=Y7Yy)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

application
range

LABJNDuS triangle lightness T*
YoeL*w -~ nc=100

T aganDus =IN(A1n+AnY)(AznAon)  (Ya/100<Y<=Yyo)
T*LaganDus=IN(A 10 A2 X)/(A2iAon) - (X=Y1Yy)
T+ (3,6)=146,T* ,(18)=332,T* ,(90)=517

log[T*/T* ;]=0, m,=0,33

CEH81-1A
logAY) LABJINDu8
AY tristimulus value difference
Y=L w nc=100,
T*LABINDUs=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 17+ A2 (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X:YIYLI
Aonpes=Li5, Aon a=1,0, see CIE 230:2019 o
é *
T*=332 dY,=0,17, dY,/Yy=0,,%0 s 2

application
range
i, _
=l
XN=0,2 Xw=5

CEHB1-3A
log AY/Y) LABJINDUS
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l
T*LABINDus=IN(A 10+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Yno)
T*LaBaNDus=IN(A 1+t A2)/(A2uAon) - (X=YTYy)
AYIN=A A1+ A Y)Y =Agn (A1t Ag )Y

= = application
T*,=332, dY,=0,17, dY,/Y,=0,0096 Tange
‘
Ix,=1
XN=0,2 Xw=5

CEH81-5A

log (Y/AY) LABJINDu8

- tristimulus value contrast
SN Yoe=L*w -~ nc=100
T*LABINDuS=IN(A 17+ A2nY)/(A2nA0n)  (Yd/100<Y<=Yno)
T*LaBINDus=IN(A 17+ A2/ (A2 Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

T*,=332 dY,=0,17, Y,/dY,=10

.=
1

1 application
1 range
=1

XNn=0,2  ixyw=5

CEH81-7A
CEH81-7N

TUB-test chart CEH8; LABINDuU8*(Y) & T*(Y), Yne=(Y&L*) wrcBng =0,66
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,011, A,=0,0058, A,=0,10

THT* LABJNDuS relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*Laganbus =IN(A1ntAnY)(AnAon)  (Ya/100<Y<=Yyo)
T*Laganbus =IN(A17tA2X)/ (A2iAon) - (X=Y1Yy)
TN (3:6)=146,T* ,(18)=332,T*,(90)=517

log[T*/T* ]=0, m=0,33

1 application
f range
%=1

CEH81-2A

log(AY/AY,) LABJNDuS relative

tristimulus value difference
NN YomL*yy - =100,

T*LABINDUS =IN(A 10t A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

2

1
1 application
1 range

%=1
XNn=0,2 Xw=5

CEHB1-4A
log [(AY/Y) | (AYIY),] LABJNDuUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDUS =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDuS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

S
~§

= _ . licati
T+,=332, dY,=0,17 dY,/¥,=0,009g  ZHE.Zaton

%=1
XNn=0,2 Xw=5

CEHB1-6A
log [(Y/AY) I (YIAY),] LABJNDuS relative
tistimulus value contrast

CrlCru=(YIAI(YIAY), v 21, > 2100,

nc

T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)

application
range

%=1
XNn=0,2 Xw=5

CEH81-8A
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